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Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 3T -
() STT7-97 720 797 8 A fFawages - o) § golcgdare mwé:
g€ 9’ : 37 T H UF T & A JGAEAT THW 16 (i-xvi) T T &
J&% T 1 37 & &1
G T 37 G H2 811 T F7 G J97 81 J9% J97 2 S # 8
g ‘G : 57 g F 12 7 16 7% FT W 97 &1 AT T 4 37H #H
&/
g% T FGEEHLT 720 7% FT AN T & 9% Fo7 6 SH H &
(ii) T FT ST &
(iii) @ T % FB 597 4 k% [wey [ 78 & 374 & 0% & 597 # g
&
(iv) 189 T4 1% Q9% & 79 Fe-Gikar & @ Hawq Tl Fil
(v) %997 YT T FY-GIerenl & &% STavq [7g)

(vi) BT B FIT F AT T&T &1

General Instructions :

() This question paper consists of 20 questions which are divided into
four Sections : A, B, Cand D :
Section ‘A’ : This Section consists of one question which is divided
into 16 (i-xvi) parts of multiple choice type. Each part
carries 1 mark.

Section B': This Section consists of ten questions from 2 to 11. Each
question carries 2 marks.

Section 'C': This Section consists of five questions from 12 to 16.
Each question carries 4 marks.

Section 'D': This Section consists of four questions from 17 to 20.
Each question carries 6 marks.
(i) All questions are compulsory.

(iii) Section 'D' contains some questions where internal choice have been
provided. Choose one of them.
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(iv) You must attach the given graph-paper along with your answer-
book.

(v) You must write your Answer-book Serial No. on the graph-paper.
(vi) Use of Calculator is not permitted.

gue - A
SECTION - A

1. () 3R fg=1log(l+x M g(x)=e*,dq (gof ) AT E : 1

A) elt* (B) 1+x
(C) log x (D) ™ & HE -
If fix) = log (1 + x) and g(x) = e*,then value of (gof)(x is :
A) elt¥ (B) 1+x
(C) log x (D) None of these
(11) sin(cos_1 %J H A R 1
4 3
(A) 3 (B) 5
© 3 (D) & & B T

The value of sin(cos_1 gj is :

4 3
A — B) —
(a) "5 B) <
2
(C) 5 (D) None of these
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(iii) ?JﬁA:F 2 3} Sﬁ'{B:F 3 7},a‘r 2A+Bg®: 1
1 5 7 0 4 1
N 9 7 13 B 9 13 7
A) 2 14 15 (B) 2 14 15
7 9 13 "
(C) [2 " 15} (D) FH q #E e
IfA:{4 2 3} and B:{1 3 7}, then 2A + Bis:
1 5 7 0 4 1
N 9 7 13 B 9 13 7
A) 2 14 15 (B) 2 14 15
7 9 13
(@) {2 L4 15} (D) None of these
(iv) tri%‘i_:‘:s,a‘rmamwﬁ%: 1
(A) 3 (B) 4
(C) -3 (D) FH § Fx el
If‘i _5‘:3, then value of mis :
(A) 3 (B) 4
() -3 (D) None of these
(V) sinx® ® x P HUE TTHAT 8 : 1
(A) cos x3 (B) 3x? cos x3

(©) 3x? cos x (D) g o HE TR

3

Derivative of sin x° w. r. t. xis :

(A) cos x3 (B) 3x? cos x>
(C) 3x? cos x (D) None of these

3631/(Set : A)

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

CATE
(5) 3631/(Set : A)
(vi) W& flx) = sin3x + 4 & NfHaH AR Foaw A oFEAm R 0 o
(A) 53X 3 (B) 63X 4
(©) 483 (D) & & #E T
The maximum and minimum value of function f{x) = sin3x + 4 are
respectively :
(A) Sand 3 (B) 6and4
(C) 4and 3 (D) None of these
(vii) @ x = acos36, y = asin®6 & ezg W Wl X A v R
(A) 1 (B) 2
(€ -1 (D) T & HE T
The slope of tangent to the curve x = acos® 0,y = asin®@ at 0= % is
(A) 1 (B) 2
c) -1 (D) None of these
(viii) jtanzxdx H I B 1
(A) tanx—-x+c (B) cotx—-x+c
(C) secx—-x+c (D) ?ﬁﬁﬁﬁgﬁﬁ
The value of jtanz x dx is:
(A) tanx—-x+c (B) cotx—-x+c
(C) sec x—x+c (D) None of these
(ix) j dx & 9N ® : 1
1+2x
(A) —tan ( 2x )
(B) —tan ( 2x )
242
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(x)

(xi)

(6) 3631/(Set : A)

(C) Etan ( 2x )

) T { B T
Th \ f dx is:

e value o I1+2x4 is

(A) Etan ( 2x )
(B) mtan ( 2x )
(C) Etan ( 2x )
(D) None of these

2
xydg+x(dyj —y Y _ o e wle # oA D 1

dx dx dx
(A) 2 (B) 3
© 1 (D) ¥ & B T
2 2

The degree of the differential equation xy% + x(%) - y% =0
is :
A 2 B) 3
) 1 (D) None of these
%ztanzx AT THIBT Pl B & 1

(A) y=tanx-x+c
B) y=cotx—-x+c
(C) y=secx—-x+c

59 | HI3 el
dy 2

Solution of the differential equation I tan” x is:
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(A) y=tanx-x+c
B) y=cotx—-x+c
(C) y=secx-x+c
(D) None of these
.. 7 9 4
P(A)=—, P(B)=— =— A/B % : 1
(i) 3 P(A)= 2, P(B)=_; R PAnB)=—, T AA/B ¥
2 S
A) = B) —
(A) g (B) 9
4 '
© 5 (D) 3™ & H§ &
If P(A)=-—, P(B)=— and P(A~B)=-* then A/B) is :
13’ 13 13’ ’
2 5
A) = B) —
® 3 ®
4
(©C) 5 (D) None of these
(xiii) AT W 52 T H TS § TF G H T AR R S Sew qE o
Frepre T 81 e T S O S B b IRl © ¢ 1
1 1
A — B) —
A 17 (B) 223
1
© D) T & B T
A card is drawn from a pack of 52 cards and then a second card is
drawn without replacement. The probability that both cards drawn
are queens is :
1 1
A — B) —
A 17 (B) 221
(C) 1 (D) None of these
13
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(xiv) I} A X B @ ®a= ge- 39 YK & P(A U B) = 0.60 3R
PA) =0.2,q PB)H 99 8 : 1
(A) 0.5 (B) 0.6
(C) 0.7 (D) T8 § Fi3 7ol

If A and B are two independent events such that P[A u B) = 0.60
and P(A) = 0.2, then P(B) is :

(A) 0.5 (B) 0.6
(C) 0.7 (D) None of these
(xv) @=i+2]j-3k A b =3i—j+2k AR & & B BT L :

—1( 5 -1( 9
(A) cos (ﬁj (B) cos (ﬁj

(C) cos_l(_sj (D) 9 § B -T&

14

The angle between the vector a=i+ 2j -3k and b=3i- j +2k is :

(A) cos_l(%j (B) cos_l(%j

(@) cos_l(%jj (D) None of these
(xvi) A 3 X@ell & fag-aoastt & U 4, 3, 2 X 1, -2, 1 &, @ @el &
S ® B © 1
(A) 90° (B) 60°
(C) 45° (D) & § FI5 T

If direction cosines of two lines are proportional to 4, 3, 2 and 1,
-2, 1, then the angle between the lines is :
(A) 90° (B) 60°
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(C) 45° (D) None of these
gg - §
SECTION - B
1 , x>0
2. WETF fx)={0 , x=0 Thal T B 2
-1, x<0O
1 , x>0
Show that f(x)=40 , x=0 is not one-one.
-1, x<0O
3. s #ife 2
. -1 -1 T
sin” ~ x + cos x—g
Prove that :
.1 1. T
sin"” x+cos T x=—
2
3 1 3 5
4. I A= : z,aaﬂA)maaﬁﬁQ,agrf(x)zx —5x+7. 2
3 1 9
If A= ) 2,thenﬁndﬂA),Where f(x)=x°-5x+7.

5. BIgS ® &9%a 7 e e 9 (0, 0), (-2, 3) AR (10, 7) 81 2

Find the area of the triangle whose vertices are (0, 0), (-2, 3) and (10,
7).

6. (tanx)°°™ F x H TUE FaHAS A BT 2

cot x

Find the derivative of (tan x) w. r. t. x

7. il_.zi S I, STeie x:ezt.cost,y:ezt.sint. 2
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Find ﬂ, when x = e?!. cost Y = et sint.
8. WM G HINT : 2
J‘tan_1 x dx
Evaluate :
J‘tan_1 x dx.
9. WM G HINT : 2
I dx
9x2 -1
Evaluate :
J- dx
9x2 -1

10. s FECT By + y2 ) dx + (2 + xy)dy = 0 B = B2
Solve the differential equation :
(3xy+y2)dx+(x2+xy)dy=0
11. T ¥ & 3 o 3R 5 Fiel 7 & R g A § 6 @ 3R 4 &l 1 8 I
Ad § s e el T B iRl S i {6 A o 8 2

A bag contains 3 red and 5 black balls and a second bag contains 6 red
and 4 black balls. A ball is drawn from each bag. Find the probability
that both are red.

e - 9
SECTION-C
12. &5 kT : 4
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tanll\/“_ x2 —1]

1

1 _
=—tan " x;x#0

X

Prove that :

2 _
tan_llwl = ltan_1 x; x#0
X 2

13. 3WEY % x =2 W %A fl = |x - 2|, x e RUTT & W STakaiig Tt 21 4

Show that the function f{x) = |x — 2|, x € R is continuous but not
differentiable at x = 2.

14. t g W x = a sin’t, y = b cos®t & W & THT 77 FW 4

Find the equation of tangent at the point t to the curve x = a sin3t, y=
3
b cost.

15. % e & IR IV K TS (tails) P SCIT H WG S MG HiC - 4

Find the probability distribution of the number of tails in four tosses of

a coin.
16. BIYsl & &%a Fq Hiee s iy (1, 2, 3), 2, 5, -1), (-1, 1, 2) &l
4
Find the area of triangle whose vertices are (1, 2, 3), (2, 5, -1),
-1, 1, 2).
gug -
SECTION-D
17. = HHIGON &l STegE [y 8N & &g 6
x+2y-3z=-4,
2x+ 3y +2z=2,
3x-3y—-4z=11.
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Solve the following equations by matrix method :
x+2y-3z=-4,
2x+ 3y +2z=2,
3x-3y—-4z=11.

18. WM y=x+2 3R TF y:%x2+2 9 X 89 1 8% S P 6

Find the area enclosed between the straight line y = x + 2 and the curve

)
=—x"+2.
S
HYAT
OR
g 31T I
n X
[
01+sin 5
Evaluate :
3 X
[
01+sin X

19. &g (3, -1, 11)@(%@1%:"’;2:Z;3 W o H GHIBT S BT

& g ot 3 i 6

Find the equation of the perpendicular from the point (3, -1, 11) to the

line g =Y ; £ =z ; 3 . Also find the foot of perpendicular.
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S LC|

OR

gl (2, 1, 0), (3, 2, —2) R (3, 1, 7) & ToRA A T@ (plane) H THHT
ST T

Find the equation of the plane passing through the points (2, 1, 0), (3,
-2,-2)and (3, 1, 7).

20. = L.P.P. & 1wy fafyy g &7 ik : 6

gAqq ¢ Z=18x+ 10y
el & F
4x +y =20,
2x +3y =30,
x,y =20.
Solve graphically the following L. P. P. :
Minimize : Z= 18x + 10y
subject to constraints :
4x +y =20,
2x +3y =30,
x,y =20.

3631/(Set : A) P.T.O.

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

	Button1: 
	Button2: 


